
CLASS XII 
MATHEMATICS -041 

PRACTICE PAPER II ( 2019-20 ) 
 
Time: 3 Hrs.                                                                                     Maximum Marks: 80 िनधाŊįरतसमय : 3 घंटे          अिधकतमअंक : 80 
 General Instructions: 
(1) All the questions are compulsory. 
(2) The question paper consists of 36 questions divided into 4 sections A, B, 
C and D. 
(3) Section A comprises of 20 questions of 1 mark each. Section B comprises 
of 6 questions of 2 marks each. Section C comprises of 6 questions of 4 
marks each. Section D comprises of 4 questions of 6 marks each. 
(4) There is no overall choice. However, an internal choice has been provided 
in three questions of 1 mark each, two questions of 2 marks each, two 
questions of 4 marks each, and two questions of 6 marks each. You have 
to attempt only one of the alternatives in all such questions. 
(5) Use of calculators is not permitted समा᭠य िनदᱷश: 
1.सभी ᮧ᳤ अिनवायᭅ ह ᱹ
2. ᮧ᳤ पᮢ मᱶ 36 ᮧ᳤ ह ᱹजो चार खडंᲂ मᱶ िवभᲦ ह ैअ,ब,स,द 
3. खंड अ मᱶ 20 ᮧ᳤ हᮧै᭜येक ᮧ᳤ 1 अंक का ह ै। 
खंड बमᱹ 6 ᮧ᳤ ह ᱹᮧ᭜यके ᮧ᳤ 2 अंक का ह ै। 
खंड स मᱶ 6 ᮧ᳤ ह ैᮧ᭜येक ᮧ᳤ 4 अंक का ह ै। 
खंडद म ᱹ4 ᮧ᳤ ह ैᮧ᭜येक ᮧ᳤ 6 अंक का ह ै। 
4. ᮧ᳤ पᮢ मᱶ समᮕ पर कोई िवक᭨प नहᱭ ह ैतथािप 1 अंक के 3 ᮧ᳤ मᱶ , 2 अंक के 2 ᮧ᳤ᲂ मᱶ , 4 अंक के 2 ᮧ᳤ᲂ मᱶ 
और 6 अंक के 2 ᮧ᳤ᲂ मᱶ िवक᭨प ᳰदया गया ह ै। ऐस ेसभी ᮧ᳤ᲂ मᱶ एक ही िवक᭨प हल करना ह ै।  
5.केलकुलेटर के ᮧयोग कᳱ अनमुित नहᱭ ह ै। 
 
 
Question Number 1-10 Are Of Multiple Choice Type Questions . 
 Select the Correct Option      
(1) If A =ቂ 2 −1 3−4 5 1ቃ    and B=   ൥2 34 −21 5

൩       then  
 
(A) Only AB is defined         (B) Only BA is defined         (C) AB and BA both are defined          
(D) AB and BA both are not  defined          
 



यᳰद A =ቂ 2 −1 3−4 5 1ቃ    तथा B=        ൥2 34 −21 5
൩तो , 

 
(A) केवल  AB पᳯरभािषत ह ै   (B)  केवल  BA    पᳯरभािषत ह ै   (C)AB तथा  BA दोनᲂ पᳯरभािषत ह ᱹ          
(D) AB तथा  BA दोनᲂ पᳯरभािषत नहᱭ  ह ᱹ| 
 
 
(2) If  A =ቂ0 11 0ቃ, then A2 is equal to  
 

(A) ቂ0 11 0ቃ (B) ቂ1 01 0ቃ(C) ቂ0 10 1ቃ (D ቂ1 00 1ቃ 
 
यᳰद A =ቂ0 11 0ቃ, तो A2 बराबर ह ै 
 

(A)  ቂ0 11 0ቃ (B) ቂ1 01 0ቃ (C) ቂ0 10 1ቃ (D ቂ1 00 1ቃ 
 
(3)   The value of λ for which the vectors Ԧܽ =2ଓ+̂λଔ̂ + ෠݇ and ሬܾԦ = ଓ ̂+2ଔ̂+3 ෠݇ are orthogonal is  
(A) 0           (B) 0          (C)  3/2             (D)-5/2 
 
यᳰद सᳰदश  Ԧܽ =2ଓ+̂λଔ̂ + ෠݇ और सᳰदश ሬܾԦ = ଓ ̂+2ଔ̂+3 ෠݇लाि᭥बक (orthogonal) हᲂ  तो λ का मान ह ै 
 
(A) 0          (B) 0            (C)  3/2             (D)-5/2 
 
(4) Let  A and B be two events such that P(A)=0.6, P(B)=0.2 and P(A/B)=0.5 then P(A'/B') equals 
(A) 1/10    ( B )3/10   (C) 3/8         (D) 6/7 
मान लीिजए ᳰक A तथा B दो घटनाएऐंसी हᳰᱹक P(A)=0.6,P(B)=0.2 तथा P(A/B)=0.5 P(A'/B') बराबर होगा 
(A)1/10     ( B )3/10   (C) 3/8       (D) 6/7 
(5) Distance of the point (α,β,γ) from y axis is  
(A)β         (B)|ߚ|      (C) หߚ + ଶߙห  (D) ඥ|ߛ| +  ଶߛ
ᳲबद ु(α,β,γ) कᳱ   y अᭃ से दरूी  ह ै 
(A) β         (B)|ߚ|     (C) หߚ + ଶߙห   (D) ඥ|ߛ| +  ଶߛ
(6) If tanିଵ ݔ + tanିଵ ݕ = ସగ

ହ , then cotିଵ ݔ + cotିଵ  ݏ݈ܽݑݍ݁ ݕ

(A) గହ (B) ଶగ
ହ                     (C)  ଷగ

ହ                   (D)π 



यᳰद tanିଵ ݔ + tanିଵ ݕ = ସగ
ହ , तो cotିଵ ݔ + cotିଵ  बराबर हœ ݕ

(ܣ) గ
ହ                  (B) ଶగ

ହ                     (C)  ଷగ
ହ                  (D)π  

(7) A bag contains 5 red and 3 blue balls three balls drawn at random without replacement the probability of getting exactly one ball is 
(A) 45 /196       ( B )135/392          (C)5/56           (D) 15/29 
एक थलैे  मᱶ 5 लालतथा 3 नीली गᱶद ह ै। यᳰद 3 गᱶदिबना ᮧित᭭थापन के िनकाली जाती ह।ैएक लाल रंग कᳱ गᱶद िनकालन ेकᳱᮧाियकता-- 
(A) 45 /196      ( B )135/392          (C) 15/56           (D) 15/29 
(8) ׬ ݁௫(cos sin-ݔ  dx equals to (ݔ
(A)݁௫ cos ݔ + ܿ                      (B)݁௫ sin ݔ + ܿ 
 (C)−݁௫ cos ݔ + ܿ                    (D) − ݁௫ sin ݔ + ܿ 
׬ ݁௫(cos sin-ݔ  ै dx का मान ह (ݔ
(A)݁௫ cos ݔ + ܿ                      (B)݁௫ sin ݔ + ܿ 
 (C)−݁௫ cos ݔ + ܿ                  (D) − ݁௫ sin ݔ + ܿ 
(9) Reflection of the point (α,β,γ) in the xy plane is  
(A)(α,β,0)   (B)(0,0,γ)  (C) |(−α, −β, γ) | (D) (α,β,-γ)  
xy स᭥तल मᱶ ᳲबद ू(α,β,γ) का  परावतᭅन ह ै 
(A)(α,β,0)   (B)(0,0,γ)  (C) |(−α, −β, γ) | (D) (α,β,-γ)  
(10)Planes 2x-y+4z=5 and 5x-2.5y+10z =6 are: 
(A)Perpendicular to each other                 (B) Parallel 
(C)Intersect at y axis                                    (D) passes through point (0.0.5/4) 
समतल 2x-y+4z=5 तथा  5x-2.5y+10z =6 है : 
(A) पर˙र लɾ                                           (B) समांतर 
(C) y अᭃ पर ᮧितवेदन करते ह ᱹ                (D)िबंदु (0.0.5/4)से गुजरते ह ᱹ 



(Q 11-Q15) Fill in the blanks  
(Q 11-Q15) įरƅ ̾थान भįरये  
(11)The domain of the function f:R→ ܴ defined by f(x)=√ݔଶ + ݔ3 + 2 is --------------------- 
f(x)=√ݔଶ + ݔ3 + 2᳇ारा पᳯरभािषत फलनf:R→ ܴका ᮧांत------- ह ै 
(12)The function f(x)=ቊୱ୧୬ ௫

௫ + cos ,ݔ ݔ݂ܫ ≠ 0
݇,                   If  ݔ = 0

  is continuous at x=0, then the value of k is -------- 

यᳰदफलनf(x)=ቊ
ୱ୧୬ ௫

௫ + cos ,ݔ यᳰद ݔ ≠ 0
݇,                   यᳰद  ݔ = 0

  ᳲबद ुx=0 पर संतत ह ै 

 तो  k का मान ह-ै------------------------- 
(13)If f(x) =, ଵ

ସ௫మାଶ௫ାଵthen its maximum value is------------------ 

यᳰदf(x) =, ଵ
ସ௫మାଶ௫ାଵ , तो इसका उ᭒ᱫम मान − − − − − − − − − −ह ै 

                                          OR 
The equation of normal to the curve y=sinx at (0,0) is___________ 
वᮓ y=sinxके (0,0) पर अिभल᭥ब का  समीकरन __________ ह ै
(14)If A is a matrix of order 3x3, then   |3ܣ| =  − − − − − − − −  
यᳰद A एक 3X3 कोᳯट का आ᳞ूह ह ै तो |3ܣ|= ---------------------- 
(15)Cartesian equation of the plane ݎԦ.(ଓ̂+ଔ̂ - ෠݇)=2 is--------------- 
स᭥तल ݎԦ.(ଓ̂+ଔ̂ - ෠݇)=2 का कातᱮये समीकरन ----------------- ह.ै  
                                    OR   
The value of the expression ห Ԧܽ × ሬܾԦหଶ( Ԧܽ. ܾ)ሬሬሬሬԦଶis_______________ 
ʩंजकหࢇሬሬԦ × .ሬሬԦࢇ)ሬሬԦห૛࢈   ------------------------                                     ै ሬሬሬሬԦଶ मान ह(࢈
(Q16-Q20) Answer the following questions  



(Q16-Q20) िन᳜ ᮧ᳤ो के उᱫर िलİखये 

(16) If cos2θ=0 then ϐind the value of อ 0 cosθ sinθcosθ sinθ 0sinθ 0 cosθ
อ

ଶ
 

यᳰदcos20=ߠ  तबอ 0 ߠݏ݋ܿ ߠݏ݋ܿߠ݊݅ݏ ߠ݊݅ݏ ߠ݊݅ݏ0 0 ߠݏ݋ܿ
อ

ଶ
का मान ᭄ात कᳱिजए 

(17)Evaluate ׬ ଵ
(ଶ௫ା௫௟௢௚௫)dx 

׬ ଵ
(ଶ௫ା௫௟௢௚௫) dx  का मान ǒात कीिजए। 

(18)Find ׬ ଷାଷ ୡ୭
௫ାୱ୧ dx 

 
׬             ଷାଷ ୡ୭

௫ାୱ୧୬ ௫  ᭄ात कᳱिजए। 
OR 

Evaluate׬ (ଵାୡ୭ୱ ௫)
௫ାୱ୧୬ dx 

 
׬                (ଵାୡ୭ )

௫ାୱ୧୬ ௫  ᭄ात कᳱिजए। 
  (19) Evaluate 
න ݔ݀

sinଶ ݔ cosଶ .ݔ
 

 
׬ ௗ௫

ୱ୧୬మ ௫ ୡ୭ୱమ ௫. ᭄ात कᳱिजए। 
 (20)Find the general solution of differential equation  
xௗ௬

ௗ௫+2y=ݔଶ 
अवकल समीकरण 
xௗ௬

ௗ௫+2y=ݔଶ का ᳞ापक हल ᭄ात कᳱिजये । 
  SECTION B  Question 21-26 each question carries 2 marks 
ᮧ᳤ सं᭎या 21-26 ᮧ᭜येक ᮧ᳤ दो अंक का  ह ै 



(21) If Ԧܽ + ሬܾԦ + Ԧܿ =0 and | Ԧܽ|=3,ห ሬܾԦห =5,| Ԧܿ|=7 then find the value of Ԧܽ ሬܾԦ + ሬܾԦ Ԧܿ + Ԧܿ Ԧܽ 
यᳰद Ԧܽ + ሬܾԦ + Ԧܿ =0 तथा | Ԧܽ|=3,ห ሬܾԦห =5,| Ԧܿ|=7 तो Ԧܽ ሬܾԦ + ሬܾԦ Ԧܿ + Ԧܿ Ԧܽ का मान ᭄ात कᳱिजये । 
 OR  
For the given vectors, Ԧܽ=3ଓ̂ -ଔ̂ +2 ෠݇ and ሬܾԦ= -2ଓ෡  +ଔ̂ - ෠݇ find the unit vector in the direction of 
vector Ԧܽ+ ሬܾԦ. 
सᳰदशᲂ Ԧܽ=3ଓ̂ -ଔ̂ +2 ෠݇तथा ሬܾԦ= -2ଓ෡  +ଔ̂ - ෠݇ , ( Ԧܽ+ ሬܾԦ)के अनुᳰदश माᮢक सᳰदश ᭄ात कᳱिजय े।  
(22) Write tanିଵ( ୡ୭ୱ ௫

ଵିୱ୧୬ ௫), ିగ
ଶ < ݔ < ଷగ

ଶ  in the simplest form 
tanିଵ( ୡ୭ୱ ௫

ଵିୱ୧୬ ௫), ିగ
ଶ < ݔ < ଷగ

ଶ को सलᱫम ᱨप मᱶ िलिखए।  
 

OR 
Find gof and fog ,if f:R→R and g:R→R are given by f(x)=cosx and g(x)=3x2 then show that gof≠fog 

यᳰद  f:R→R तथा  g:R→R फलन   ᮓमश: f(x)=cosxतथा g(x)=3x2᳇ारा पᳯरभािषत ह ैतो gof और fog ᭄ात ᳰकिजये । िस᳍ कᳱिजए ᳰक gof≠fog 
(23) If y=A sin x.+ B cos x , then prove that ୢଶ୷

ୢ୶ଶ + ݕ = 0. 
यᳰद y=A sin x.+ B cos x तो िस᳍ कᳱिजये ᳰक ୢଶ୷

ୢ୶ଶ + ݕ = 0. 
.(24)  A particle moves along the curve 6y=x3+2 . Find the points on the curve at which the y ordinate is changing 2 times as fast as the x coordinate. 
एक कण वᮓ 6y=x3+2 के अनगुत गित कर रहा ह ᱹ| वᮓ पर उन िब᭠दᲐु को ᭄ात कᳱिजये जबᳰक x िनदᱷशांक ᳰक तुलना मᱶ y िनदᱷशाकं दगुुनी तीᮯता से बदल रहा ह ै| 

(25) Find the angle between the lines 
 (෡࢑ଙ̂ + 2ଚ̂+2)μ + (෡࢑7ଙ̂-6) =ሬԦ࢘  and (෡࢑3ଙ̂+2ଚ̂+6)λ + (෡࢑+ 2ଙ̂ - 5ଚ̂) = ሬԦ࢘ 
रेखाᲐ ࢘ሬԦ = (2ଙ̂ - 5ଚ̂ +࢑෡) + λ(3ଙ̂+2ଚ̂+6࢑෡) तथा ࢘ሬԦ= (7ଙ̂-6࢑෡) + μ(ଙ̂ + 2ଚ̂ +2࢑෡) के बीच का कोण ᭄ात कᳱिजये | 
(26) Four cards are drawn successively without replacement from a well shuffled deck of 
52 playing cards. What is the probability that ‘only 2 cards are spades’? 
52 पᱫᲂ ᳰक एक ग᲻ी मᱶ से यᳰᮤचा᭒या िबना ᮧित᭭तािपत ᳰकये गए 4 पᱫे िनकाले गए | दोनᲂ पᱫᲂ के कुदाल 
काडᭅ होने कᳱ ᮧाियकता ᭄ात कᳱिजये | 



 
SECTION- C 

(27) Show that the function f in A= R-ቄଶ
ଷቅdefined as f(x) =ସ௫ାଷ

଺௫ିସ is one-one and onto. 

Hence, find ݂ିଵ. 

दशाᭅइए  ᳰक A= R-ቄଶ
ଷቅ मᱶ , f(x)=ସ௫ାଷ

଺௫ିସ ᳇ारा पᳯरभािषत फलन एकैकᳱ और आचादक ह ै| अतः ݂ିଵ ᭄ात 
कᳱिजये | 
(28)If cosିଵ ቀ௫మି௬మ

௫మା௬మቁ=cotିଵ ܽ find ௗమ୷
ௗ௫మ 

यᳰदcosିଵ ቀ௫మି௬మ
௫మା௬మቁ=cotିଵ ܽ  तो ௗమ୷

ௗ௫మ ᭄ातकᳱिजये| 
OR 
If sin )x sin=ݕ ܽ + prove that ௗ௬ ,(ݕ

ௗ௫=௦௜௡మ(௔ା௬)
ୱ୧୬ ௔  

यᳰद sin )xsin=ݕ ܽ + ह,ै तो िस᳍ कᳱिजये ᳰक ௗ௬ (ݕ
ௗ௫=௦௜௡మ(௔ା௬)

ୱ୧୬ ௔  

(29) Solve the differential equation:- 
ݔ ௗ௬

ௗ௫= ݕ − ݊ܽݐݔ ቀ௬
௫ቁ 

अवकल समीकरण  
ݔ ௗ௬

ௗ௫ = ݕ − ݊ܽݐݔ ቀ௬
௫ቁको हल कᳱिजये : 

 
(30)  Find: ׬ ଷ௫ାହ

௫మାଷ௫ିଵ  ݔ݀
᭄ात कᳱिजये ׬ ଷ௫ାହ

௫మାଷ௫ିଵ଼  ݔ݀



(31) Four cards are drawn one by one with replacement from a well shuffled deck of 
playing cards. Find the probability that at least three cards are of diamonds. 
अ᭒छी ᮧकार से फᱹटी गयी ताश कᳱ ग᲻ी मᱶ से एक के बाद एक चार पᱫे ᮧित᭭थापना सिहत िनकले गए | 
ᮧाियकता ᭄ात कᳱिजये ᳰक कम से कम तीन पᱫे ᲊट के आये |  

OR 
The probability of two students A and B coming to school on time are ଶ

଻and ସ଻ respectively. 
Assuming that the events ‘A coming on time’ and ‘B coming on time’ are independent. Find 
the probability of only one of them coming to school on time. 
दो िव᳒ाᳶथयᲂ A और B के समय पर आने ᳰक ᮧियᲦायᱶ ᮓ᭥शः ଶ

଻ और ସ
଻ ह ᱹ| मािनए ᳰक, A.ᇱ  समय पर आताह ै′ 

और ′ܤसमय पर आताह ै′ ᭭वत᭠ᮢ घटनाए ंह ᱹ, तो ᮧाियकता ᭄ात कᳱिजये ᳰक उनमे से एक ही िव᳒ालय मᱶ 
समय पर आता ह ै| 
(32) A manufacturer produces nuts and bolts. It takes one hour of work on machine A and 
three hours on machine B to produce a package of nuts. It takes three hours on machine A 
and one hour on machine B to produce package of bolts. He earns a profit of Rs. 35 per 
package of nuts and Rs. 14 per package of bolts. How many packages of each should be 
produced each day so as to maximize his profit, if he operates each machine for almost 12 
hour a day? Convert it into an LPP and solve graphically. 
एक िनमाᭅणकताᭅ नट और बो᭨ट का िनमाᭅण करता ह|ै एक पाकेट नटᲂ के िनमाᭅण मᱶ मशीन A पर एक घंटा और 
मशीन B पर तीन घंटे काम करना पड़ता ह ै|जबᳰक एक पैकेट बो᭨ट के िनमाᭅण मᱶ तीन घटें मशीन A पर और 
एक घंटा मशीन B पर काम करना पड़ता ह ै| वह नटᲂ से Rs. 35 ᮧित पैकेट और बो᭨टᲂ पर Rs. 14 ᮧित 
पैकेट लाभ कमाता ह ै| यᳰद ᮧितᳰदन मिचनᲂ का अिधकतम उपयोग 12 घंटे ᳰकया जाए तोह ᮧ᭜येक (नट और 



बो᭨ट ) के ᳰकतन ेपैकेट उ᭜पाᳰदत ᳰकये जाए ँताᳰक अिधकतम लाभ कमाया जा सके |LPP मᱶ बदलकर ᮕाफ 
᳇ारा हल कᳱिजय े| 
 

SECTION-D 
(33)  Using elementary row transformation find the inverse of the matrix 

൥3 0 −12 3 00 4 1
൩ 

  ᮧारंिभक पंिᲦ ᱨपा᭠तरणᲂ ᳇ारा आ᳞ूह  

൥3 0 −12 3 00 4 1
൩का ᳞ु᭜ᮓम ᭄ात कᳱिजय े|  

                                                    OR/ अथवा 
Using matrices solve the following system of linear equations:- 
2x+3y+10z=4 
4x-6y+5z=1 
6x+9y-20z=2 
                                                          
आ᳞ूहᲂ का ᮧयोग कर िन᳜िलिखत रैिखक समीकरण िनकाय को हल कᳱिजय े: 
2x+3y+10z=4 
4x-6y+5z=1 
6x+9y-20z=2 
 



(34) Using the method of integration find the area of the region bounded by the lines         
3x-2y+1=0, 2x+3y-21=0 and x-5y+9=0. 
समाकलन िविध का उपयोग करते ᱟए ऐसे ᭃेᮢ का ᭃेᮢफल ᭄ात कᳱिजय ेजो ᳰक रेखाᲐ  
3x-2y+1=0, 2x+3y-21=0 तथा  x-5y+9=0 से िघरा ᱟआ ह ै| 
 
(35)Show that the height of the cylinder, which is open at the top, having a given surface 
area and greatest volume is equal to the radius of its base. 

ᳰदखाइए कᳱ अिधकतम आयतन के और ᳰदए गए पृ᳧ीय ᭃेᮢफल के बलेन (िजसका उपरी भाग खुला हो) ᳰक उचाई बेलन के आधार कᳱ िᮢ᭔या के बराबर होगी | 
                                                      OR / अथवा 
The sum of the perimeters of circle and a square is K, where K is some constant. Prove that the 
sum of their areas is least when the side of the square is twice the radius of the circle. 
एक वᱫृ और एक वगᭅ के पᳯरमापᲂ का योगफल K ह,ै जहा ँK एक अचर ह ै|िस᳍ कᳱिजये ᳰक उनके ᭃेᮢफलᲂ का योगफल िन᮫तम ह ै, जब वगᭅ ᳰक भुजा वृᱫ ᳰक िᮢ᭔या ᳰक दगुुनी ह ै| 
(36) Find the coordinates of the foot Q of the perpendicular drawn from the point P (1,3,4) to the 
plane  2x-y+z+3=0. Find the distance PQ and the image of P treating the plane as a mirror. 
ᳲबद ुP (1,3,4) से समतल 2x-y+z+3=0 पर खᱭचे गए ल᭥ब के पाद Q के िनदᱷशांक ᭄ात कᳱिजय े| ल᭥बवत दरूी PQ तथा समतल को दपᭅण लेते ᱟए इस ᳲबद ुP  का ᮧितिभ᭥ब भी ᭄ात कᳱिजये| 
 
 
 
 
 
 


